Y¥R

ey Buiy

|
HHEERS

¥ A% Panel Cut—out :
d . . BLEX L PES
:Féﬁﬁyg A-Code Cﬁrﬁf:t With bore hole With thread to screw in
- BRER(401C): 4A arrangements | ]
- HRBE: 250V(4-pole). - ‘
125V(5—pole)

— BERAEE: 2500V(4—pole).

1500V(5—pole)

- GFRE4. 3

- #el: <10mQ
— B&EHE. 2100MQ
— BEAR: HRAMI2H , -
— REFR. BE A RA0.25mm? (AWG24) 5% 145
- B$#4%4: P67

— BBk =100 : A
- BE#E: —40C ... +85C PG9 PG9
— HEMH: Gagl M16x1.5|M16x1.5
— HHRAR: PA

- E4aR: Ebd
— BB 4

max.4.5

#18/SW17
|
69/M16x1.5

=

Technical specification: A
Series: M12 A-Code

Number of contacts: 4. 5 o 5
Rated current (40¢): 4A $20/SW18 f4¥ FaRs g LR ]

Rated voltage: 250V(4—pole) Contacts Cable outlet Part Code Weight
aled vorage Pos 4 1630043231001 | M12-F04A-BK-PG9-C 10.9 g
125V(5—-pole)

Rated impulse voltage: 2500V(4—pole). 1630043231021 | M12-FO4A-BK-M16-C | 11.2 g
olution deare 3 1500(5-pole) 1630053231001 | M12-FOSA-BK-PGI—C | 10.9 g
oliution aegree:

Contact resistance: <10m( 1630053231021 | M12-FOSA-BK-M16-C | 11.2 g

Insulation resistance: =100MQ REAE Es
Connector locking system: screw M12*1 Finish Drawing No,

Terminal: solder,wire gauge: max.0.25mm?*(AWG24) E8RE
Degree of protection: IP67 BH Part Code

Mating cycles: >100 B Wk, EE#R/Descripon | g E%. | B |Waterial - SERE

Temperature range: —40C ... +85C Part No.
Material of housing: Zinc diecasting nickel plated #4/Name| E#1/Date #4/Name | Ei/Date | jp F){&Eil/i Wfifht g&j ey

Material of insert: PA =B |Ha zHANG[15.02.0014 &£B& L Part Name -

Material of contact: copper alloy 2.1 | V11 - -

X Y )
Contact plating: Au Checked | ZM LIN 115.02.2014 T oo o ﬁ ERBRSERAR

Prgc%ss - - Apé%fv od 15.02.2014 -@ = Original Size DIN A 4 N XIAMEN WAIN ELECTRICAL CO.LTD

1 k] [

M12-FXX-BK-XX-C




